

Modified Degenerate Carlitz's q -Bernoulli Polynomials and Numbers with Weight (α, β)

Ugur Duran^{a,*}, Mehmet Acikgoz^a

^aDepartment of Mathematics, Faculty of Science and Arts, University of Gaziantep, Gaziantep, 27310, Turkey

Abstract

The main goal of the present paper is to construct some families of the Carlitz's q -Bernoulli polynomials and numbers. We firstly introduce the modified Carlitz's q -Bernoulli polynomials and numbers with weight (α, β) and investigate their some explicit properties and identities arising from the bosonic q -Volkenborn integral on \mathbb{Z}_p . We then define the modified degenerate Carlitz's q -Bernoulli polynomials and numbers with weight (α, β) and obtain some recurrence relations and other identities. Moreover, we derive some correlations with the modified Carlitz's q -Bernoulli polynomials with weight (α, β) , the modified degenerate Carlitz's q -Bernoulli polynomials with weight (α, β) , the Stirling numbers of the first kind and second kind.

Keywords: Carlitz's q -Bernoulli polynomials; Stirling numbers of the first kind; Stirling numbers of the second kind; p -adic q -integral.

2010 MSC: Primary 05A19, 05A30; Secondary 11S80, 11B68.

1. Introduction

In the complex plane, the Bernoulli polynomials $B_n(x)$ are defined via the following Taylor series expansion about $t = 0$:

$$\sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!} = \frac{t}{e^t - 1} e^{xt} \quad (|t| < 2\pi), \quad (1.1)$$

from which one can obtain the Bernoulli numbers B_n as values $B_n(0) := B_n$ (see, [2-15]).

Carlitz [2] defined the q -analogue of the Bernoulli numbers $\beta_n = \beta_n(q)$ and polynomials $\beta_n(x : q)$ as follows

$$\beta_0 = 1, \quad q(q\beta + 1)^n - \beta_n = \begin{cases} 1 & \text{if } n = 1, \\ 0 & \text{if } n > 1 \end{cases}$$

*Corresponding author

Email addresses: mtdrnugur@gmail.com (Ugur Duran), acikgoz@gantep.edu.tr (Mehmet Acikgoz)

(1.2)

and

$$\beta_n(x : q) = \sum_{s=0}^n \binom{n}{s} \beta_s(q) q^{sx} [x]_q^{n-s}. \quad (1.3)$$

Carlitz [3] also introduced the degenerate Bernoulli polynomials $\beta_n(\lambda, x)$ for $\lambda \neq 0$ by the following generating function to be

$$\frac{t}{(1 + \lambda t)^{1/\lambda} - 1} (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} \beta_n(\lambda, x) \frac{t^n}{n!}. \quad (1.4)$$

In recent years, q -Bernoulli polynomials and their generalizations have been studied and investigated extensively by many mathematicians. For instance, Kim et al. [7] considered a novel degenerate Bernoulli numbers and polynomials, different from Carlitz's degenerate Bernoulli numbers and polynomials, and provided some identities and formulas associated with these numbers and polynomials. Young [15] proved a general symmetric identity involving the degenerate Bernoulli polynomials and sums of generalized falling factorials, which unifies several known identities for Bernoulli and degenerate Bernoulli numbers and polynomials. Kim [5] obtained the Carlitz's q -Bernoulli polynomials arising from the p -adic q -integral on \mathbb{Z}_p and obtained some recurrence relations. In [4], Duran et al. acquired some symmetric identities and properties for the Carlitz's twisted q -Bernoulli polynomials under the symmetric group of degree n . Kim et al. [6] introduced the q -Bernoulli polynomials and numbers with weight α and showed some interesting properties. In [10] and [12], Lee et al. defined and studied the modified degenerate Carlitz q -Bernoulli numbers and polynomials. Lee [11] considered the weighted degenerate Carlitz's q -Bernoulli polynomials and numbers and provided some interesting properties. Park [13] constructed new q -extension of Bernoulli polynomials with weight α and weak weight β .

Supposing that p be a fixed odd prime number. Throughout this paper, \mathbb{Z}_p , \mathbb{Q} , \mathbb{Q}_p and \mathbb{C}_p will denote the ring of p -adic rational integers, the field of rational numbers, the field of p -adic rational numbers and the completion of algebraic closure of \mathbb{Q}_p , respectively. Let $\mathbb{N} = \{1, 2, 3, \dots\}$ and $\mathbb{N}^* = \mathbb{N} \cup \{0\}$. The normalized p -adic norm is given by $|p|_p = p^{-1}$. The notation q can be considered as an indeterminate, a complex number $q \in \mathbb{C}$ with $|q| < 1$, or a p -adic number $q \in \mathbb{C}_p$ with $|q - 1|_p < p^{-\frac{1}{p-1}}$ and $q^x = \exp(x \log q)$ for $|x|_p \leq 1$. The q -analogue of x is defined by $[x]_q = (1 - q^x) / (1 - q)$. It is clear that $\lim_{q \rightarrow 1} [x]_q = x$ for any x with $|x|_p \leq 1$ in the p -adic case, see [1, 4-14].

For

$$g \in UD(\mathbb{Z}_p) = \{g | g : \mathbb{Z}_p \rightarrow \mathbb{C}_p \text{ is uniformly differentiable function}\},$$

the bosonic p -adic q -integral on \mathbb{Z}_p of a function $g \in UD(\mathbb{Z}_p)$ is introduced by Kim [5] as follows:

$$I_q(g) = \int_{\mathbb{Z}_p} g(x) d\mu_q(x) = \lim_{N \rightarrow \infty} \frac{1}{[p^N]_q} \sum_{j=0}^{p^N-1} g(j) q^j. \quad (1.5)$$

A more detailed statement of the above is found in each of the references [1, 4-14].

The Carlitz's q -Bernoulli polynomials with Witt's formula are defined by the following p -adic q -integral on \mathbb{Z}_p , with respect to μ_q (see [5]):

$$\int_{\mathbb{Z}_p} [x + y]_q^n d\mu_q(y) = \beta_{n,q}(x) \quad (n \geq 0).$$

Moreover, when $x = 0$, we have the Carlitz's q -Bernoulli numbers with Witt's formula given by $\int_{\mathbb{Z}_p} [y]_q^n d\mu_q(y) = \beta_{n,q}(0) := \beta_{n,q}$. By (1.5), $\beta_{n,q}$ holds the following relation

$$\begin{aligned}\beta_{n,q} &= \int_{\mathbb{Z}_p} [y]_q^n d\mu_q(y) = \lim_{N \rightarrow \infty} \frac{1}{[p^N]_q} \sum_{j=0}^{p^N-1} [j]_q^n q^j = \lim_{N \rightarrow \infty} \frac{1-q}{1-q^{p^N}} \sum_{j=0}^{p^N-1} \left(\frac{1-q^j}{1-q} \right)^n q^j \\ &= \frac{1}{(1-q)^{n-1}} \sum_{k=0}^n \binom{n}{k} (-1)^k \lim_{N \rightarrow \infty} \frac{1}{1-q^{p^N}} \frac{1-q^{p^N(k+1)}}{1-q^{k+1}} \\ &= \frac{1}{(1-q)^n} \sum_{k=0}^n \binom{n}{k} (-1)^k \frac{k+1}{[k+1]_q}.\end{aligned}$$

The modified Carlitz's q -Bernoulli polynomials are defined as follows (see [12]):

$$\int_{\mathbb{Z}_p} q^{-y} [x+y]_q^n d\mu_q(y) = B_{n,q}(x).$$

The modified Carlitz's q -Bernoulli numbers can be obtained $B_{n,q}(0) := B_{n,q} = \int_{\mathbb{Z}_p} q^{-y} [y]_q^n d\mu_q(y)$ and satisfies the following identity

$$\begin{aligned}B_{n,q} &= \int_{\mathbb{Z}_p} q^{-y} [y]_q^n d\mu_q(y) = \lim_{N \rightarrow \infty} \frac{1}{[p^N]_q} \sum_{j=0}^{p^N-1} [j]_q^n = \lim_{N \rightarrow \infty} \frac{1-q}{1-q^{p^N}} \sum_{j=0}^{p^N-1} \left(\frac{1-q^j}{1-q} \right)^n \\ &= \frac{1}{(1-q)^{n-1}} \sum_{k=0}^n \binom{n}{k} (-1)^k \lim_{N \rightarrow \infty} \frac{1}{1-q^{p^N}} \frac{1-q^{p^N k}}{1-q^k} \\ &= \frac{1}{(1-q)^n} \sum_{k=0}^n \binom{n}{k} (-1)^k \frac{k}{[k]_q}.\end{aligned}$$

Suppose that $\lambda, t \in \mathbb{C}_p$ with $0 < |\lambda|_p \leq 1$ and $|t|_p \leq p^{-\frac{1}{p-1}}$. In [12], Lee and Jang introduced the modified degenerate Carlitz's q -Bernoulli polynomials by the following generating function to be

$$\int_{\mathbb{Z}_p} q^{-y} (1 + \lambda t)^{\frac{1}{\lambda} [x+y]_q} d\mu_q(y) = \sum_{n=0}^{\infty} B_{n,\lambda,q}(x) \frac{t^n}{n!}.$$

When $x = 0$, $B_{n,\lambda,q}(0) := B_{n,\lambda,q}$ are called the modified degenerate Carlitz's q -Bernoulli numbers.

This paper consists of the three sections. The first part is introduction which provides the required information, notations and definitions. The second part gives the definition of the modified Carlitz's q -Bernoulli polynomials and numbers with weight (α, β) , and satisfies some identities and properties of them. Then, we introduce the modified degenerate Carlitz's q -Bernoulli polynomials and numbers with weight (α, β) and investigate their some identities and relations related to Stirling numbers of first kind and second kind in the last part.

2. The modified Carlitz's q -Bernoulli polynomials and numbers with weight (α, β)

We introduce the modified Carlitz's q -Bernoulli polynomials with weight (α, β) as follows:

$$\int_{\mathbb{Z}_p} q^{-\beta y} e^{t[x+y]_q \alpha} d\mu_{q^\beta}(y) = \sum_{n=0}^{\infty} B_{n,q}^{(\alpha,\beta)}(x) \frac{t^n}{n!} \quad (2.1)$$

or with another expression

$$\int_{\mathbb{Z}_p} q^{-\beta y} [x+y]_{q^\alpha}^n d\mu_{q^\beta}(y) = B_{n,q}^{(\alpha,\beta)}(x). \quad (2.2)$$

When we put $x = 0$ in Eq.(2.2), we get $B_{n,q}^{(\alpha,\beta)}(0) := B_{n,q}^{(\alpha,\beta)} = \int_{\mathbb{Z}_p} q^{-\beta y} [y]_{q^\alpha}^n d\mu_{q^\beta}(y)$ called the modified Carlitz's q -Bernoulli numbers with weight (α, β) .

For special value $n = 0$, we have

$$\begin{aligned} B_{0,q}^{(\alpha,\beta)} &= \int_{\mathbb{Z}_p} q^{-\beta y} d\mu_{q^\beta}(y) = \lim_{N \rightarrow \infty} \frac{1}{[p^N]_{q^\beta}} \sum_{j=0}^{p^N-1} q^{-\beta j} q^{\beta j} \\ &= \lim_{N \rightarrow \infty} \frac{1}{[p^N]_{q^\beta}} \sum_{j=0}^{p^N-1} 1 = \lim_{N \rightarrow \infty} \frac{(1-q)^\beta}{1-q^{\beta p^N}} p^N \\ &= -\frac{(1-q)^\beta}{\beta \log q}. \end{aligned} \quad (2.3)$$

By using the definition of the q -number and using (2.2), it is observed that

$$\begin{aligned} B_{n,q}^{(\alpha,\beta)}(x) &= \int_{\mathbb{Z}_p} q^{-\beta y} [x+y]_{q^\alpha}^n d\mu_{q^\beta}(y) = \int_{\mathbb{Z}_p} q^{-\beta y} \left([x]_{q^\alpha} + q^{\alpha x} [y]_{q^\alpha} \right)^n d\mu_{q^\beta}(y) \\ &= \sum_{l=0}^n \binom{n}{l} q^{l\alpha x} [x]_{q^\alpha}^{n-l} \int_{\mathbb{Z}_p} q^{-\beta y} [y]_{q^\alpha}^l d\mu_{q^\beta}(y) \\ &= \sum_{l=0}^n \binom{n}{l} q^{l\alpha x} [x]_{q^\alpha}^{n-l} B_{l,q}^{(\alpha,\beta)}. \end{aligned}$$

So, we deduce

$$B_{n,q}^{(\alpha,\beta)}(x) = \sum_{l=0}^n \binom{n}{l} q^{l\alpha x} [x]_{q^\alpha}^{n-l} B_{l,q}^{(\alpha,\beta)} = \left(q^{\alpha x} B_q^{(\alpha,\beta)} + [x]_{q^\alpha} \right)^n, \quad (2.4)$$

with the usual convention about replacing $\left(B_q^{(\alpha,\beta)} \right)^n$ by $B_{n,q}^{(\alpha,\beta)}$. Here we have used the binomial formula $(x+y)^n = \sum_{l=0}^n \binom{n}{l} x^l y^{n-l}$.

Let $g_1(x) = g(x+1)$. By using (1.5), we easily derive

$$\begin{aligned} q^\beta I_{q^\beta}(g_1) &= \lim_{N \rightarrow \infty} \frac{1}{[p^N]_{q^\beta}} \sum_{j=0}^{p^N-1} g(j+1) q^{\beta(j+1)} \\ &= \lim_{N \rightarrow \infty} \frac{1}{[p^N]_{q^\beta}} \left(\sum_{j=0}^{p^N-1} g(j) q^{\beta j} - g(0) + g(p^N) q^{\beta p^N} \right) \\ &= I_{q^\beta}(g) + \lim_{N \rightarrow \infty} \frac{g'(p^N) + g(p^N) \beta \log q}{\beta \log q} \\ &= I_{q^\beta}(g) + (q^\beta - 1) g(0) + \frac{q^\beta - 1}{\beta \log q} g'(0). \end{aligned}$$

Hence, we develop

$$q^\beta I_{q^\beta}(g_1) - I_{q^\beta}(g) = (q^\beta - 1) g(0) + \frac{q^\beta - 1}{\beta \log q} g'(0). \quad (2.5)$$

Taking $g(x) = q^{-\beta x} [x]_{q^\alpha}^n$ in (2.5) yields to the following identity

$$(q^\beta - 1)g(0) + \frac{q^\beta - 1}{\beta \log q} g'(0) = q^\beta \int_{\mathbb{Z}_p} q^{-\beta(x+1)} [x+1]_{q^\alpha}^n d\mu_{q^\beta}(x) - \int_{\mathbb{Z}_p} q^{-\beta x} [x]_{q^\alpha}^n d\mu_{q^\beta}(x)$$

which gives the following recurrence relation:

$$B_{0,q}^{(\alpha,\beta)} = -\frac{(1-q)^\beta}{\beta \log q} \text{ and } \left(q^\alpha B_q^{(\alpha,\beta)} + 1\right)^n - B_{n,q}^{(\alpha,\beta)} = \begin{cases} \frac{\alpha[\beta]_q}{\beta[\alpha]_q} & \text{if } n = 1, \\ 0 & \text{if } n > 1, \end{cases} \quad (2.6)$$

in conjunction with the replacing method $\left(B_q^{(\alpha,\beta)}\right)^n$ by $B_{n,q}^{(\alpha,\beta)}$.

For $n = 1$, we observe that

$$\begin{aligned} \left(q^\alpha B_q^{(\alpha,\beta)} + 1\right)^1 - B_{1,q}^{(\alpha,\beta)} &= \frac{\alpha[\beta]_q}{\beta[\alpha]_q} \Rightarrow \sum_{k=0}^1 \binom{1}{k} q^{k\alpha} B_{k,q}^{(\alpha,\beta)} = \frac{\alpha[\beta]_q}{\beta[\alpha]_q} \\ \Rightarrow B_{0,q}^{(\alpha,\beta)} + (q^\alpha - 1) B_{1,q}^{(\alpha,\beta)} &= \frac{\alpha[\beta]_q}{\beta[\alpha]_q} \Rightarrow B_{1,q}^{(\alpha,\beta)} = \frac{1}{q^\alpha - 1} \left(\frac{\alpha[\beta]_q}{\beta[\alpha]_q} + \frac{(1-q)^\beta}{\beta \log q} \right). \end{aligned}$$

For $n = 2$, we readily obtain

$$B_{2,q}^{(\alpha,\beta)} = \frac{1}{1 - q^{2\alpha}} \left(2q^\alpha \frac{1}{q^\alpha - 1} \left(\frac{\alpha[\beta]_q}{\beta[\alpha]_q} + \frac{(1-q)^\beta}{\beta \log q} \right) - \frac{(1-q)^\beta}{\beta \log q} \right).$$

Using the relation (2.6), one can subsequently derive the all modified Carlitz's q -Bernoulli numbers with weight (α, β) .

By the virtue of (1.5), we see that

$$\begin{aligned} B_{n,q}^{(\alpha,\beta)} &= \int_{\mathbb{Z}_p} q^{-\beta x} [x]_{q^\alpha}^n d\mu_{q^\beta}(x) = \lim_{N \rightarrow \infty} \frac{1}{[p^N]_{q^\beta}} \sum_{j=0}^{p^N-1} [j]_{q^\alpha}^n = \lim_{N \rightarrow \infty} \frac{1}{[p^N]_{q^\beta}} \sum_{j=0}^{p^N-1} \left(\frac{1 - q^{\alpha j}}{1 - q^\alpha} \right)^n \\ &= \frac{1}{(1 - q^\alpha)^n} \lim_{N \rightarrow \infty} \frac{1 - q^{\beta p^N}}{1 - q^\beta} \sum_{l=0}^n \binom{n}{l} (-1)^l \sum_{j=0}^{p^N-1} (q^{\alpha l})^j \\ &= \frac{\alpha}{\beta} \frac{1 - q^\beta}{(1 - q^\alpha)^n} \sum_{l=0}^n \binom{n}{l} (-1)^l \frac{l}{1 - q^{\alpha l}} = \frac{\alpha/\beta}{(1 - q^\alpha)^n} \sum_{l=0}^n \binom{n}{l} (-1)^l \frac{l}{[\alpha l/\beta]_{q^\beta}}. \end{aligned}$$

Then we get

$$B_{n,q}^{(\alpha,\beta)} = \frac{\alpha/\beta}{(1 - q^\alpha)^n} \sum_{l=0}^n \binom{n}{l} (-1)^l \frac{l}{[\alpha l/\beta]_{q^\beta}}. \quad (2.7)$$

From Eqs. (2.4) and (2.7), we get the explicit formulas for $B_{n,q}^{(\alpha,\beta)}(x)$:

$$B_{n,q}^{(\alpha,\beta)}(x) = \frac{\alpha/\beta}{(1 - q^\alpha)^n} \sum_{l=0}^n \binom{n}{l} (-1)^l q^{\alpha x l} \frac{l}{[\alpha l/\beta]_{q^\beta}} \quad (2.8)$$

and

$$B_{n,q}^{(\alpha,\beta)}(x) = \frac{\alpha}{\beta} \sum_{l=0}^n \binom{n}{l} [x]_{q^\alpha}^{n-l} \frac{q^{l\alpha x}}{(1 - q^\alpha)^l} \sum_{k=0}^l \binom{l}{k} (-1)^k \frac{k}{[\alpha k/\beta]_{q^\beta}}.$$

For $r \in \mathbb{N}$, we define the modified Carlitz's q -Bernoulli polynomials of order r with weight (α, β) :

$$\sum_{n=0}^{\infty} B_{n,q}^{(\alpha,\beta;r)}(x) \frac{t^n}{n!} = \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} q^{-\beta(x_1+\cdots+x_r)} e^{t[x_1+\cdots+x_r]_{q^\alpha}} d\mu_{q^\beta}(x_1) \cdots d\mu_{q^\beta}(x_r). \quad (2.9)$$

The modified Carlitz's q -Bernoulli polynomials of order r with weight (α, β) satisfy the following recurrence relation

$$B_{n,q}^{(\alpha,\beta;r)}(x) = \sum_{l=0}^n \binom{n}{l} q^{l\alpha x} [x]_{q^\alpha}^{n-l} B_{l,q}^{(\alpha,\beta;r)},$$

where $B_{n,q}^{(\alpha,\beta;r)}$ ($n \in \mathbb{N}^*$) are called the modified Carlitz's q -Bernoulli numbers of order r with weight (α, β) and defined by

$$B_{n,q}^{(\alpha,\beta;r)} = \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} q^{-\beta(x_1+\cdots+x_r)} [x_1 + \cdots + x_r]_{q^\alpha}^n d\mu_{q^\beta}(x_1) \cdots d\mu_{q^\beta}(x_r).$$

3. The modified degenerate Carlitz's q -Bernoulli polynomials and numbers with weight (α, β)

In this part, we provide the main results of this paper including some correlations and identities among the modified Carlitz's q -Bernoulli polynomials $B_{n,q}^{(\alpha,\beta)}(x)$ with weight (α, β) , the modified degenerate Carlitz's q -Bernoulli polynomials $B_{n,\lambda,q}^{(\alpha,\beta)}(x)$ with weight (α, β) , the Stirling numbers of the first kind $S_1(k, n)$ and second kind $S_2(k, n)$.

Let $\alpha \in \mathbb{N}$ and $\lambda, t \in \mathbb{C}_p$ with $0 < |\lambda|_p \leq 1$, $|t|_p \leq p^{-\frac{1}{p-1}}$. For $\alpha, \beta \in \mathbb{N}$, we introduce the modified degenerate Carlitz's q -Bernoulli polynomials $B_{n,\lambda,q}^{(\alpha,\beta)}(x)$ with weight (α, β) by means of the following bosonic p -adic q -integral on \mathbb{Z}_p :

$$\int_{\mathbb{Z}_p} q^{-\beta y} (1 + \lambda t)^{\frac{1}{\lambda}[x+y]_{q^\alpha}} d\mu_{q^\beta}(y) = \sum_{n=0}^{\infty} B_{n,\lambda,q}^{(\alpha,\beta)}(x) \frac{t^n}{n!}. \quad (3.1)$$

Upon setting $x = 0$, $B_{n,\lambda,q}^{(\alpha,\beta)}(0) := B_{n,\lambda,q}^{(\alpha,\beta)}$ are termed the modified degenerate Carlitz's q -Bernoulli numbers and are shown by

$$\int_{\mathbb{Z}_p} q^{-\beta y} (1 + \lambda t)^{\frac{1}{\lambda}[y]_{q^\alpha}} d\mu_{q^\beta}(y) = \sum_{n=0}^{\infty} B_{n,\lambda,q}^{(\alpha,\beta)} \frac{t^n}{n!}.$$

Remark 3.1. Some special cases of $B_{n,\lambda,q}^{(\alpha,\beta)}(x)$ are examined as follows:

$B_{n,\lambda,q}^{(1,1)}(x) := B_{n,\lambda,q}(x)$ are called the modified degenerate q -Bernoulli polynomials, see [12],
$\lim_{\lambda \rightarrow 0} B_{n,\lambda,q}^{(\alpha,\beta)}(x) := B_{n,q}^{(\alpha,\beta)}(x)$ are called the q -Bernoulli polynomials with weight (α, β) in (2.2),
$\lim_{\lambda \rightarrow 0} B_{n,\lambda,q}^{(\alpha,1)}(x) := B_{n,q}^{(\alpha)}(x)$ are called the weighted q -Bernoulli polynomials, see [6],
$\lim_{\lambda \rightarrow 0} B_{n,\lambda,q}^{(1,1)}(x) := B_{n,q}(x)$ are called the modified q -Bernoulli polynomials, see [5],
$\lim_{q \rightarrow 1^-} B_{n,\lambda,q}^{(1,1)}(x) := B_{n,\lambda}(x)$ are called the degenerate Bernoulli polynomials, see [3],
$\lim_{q \rightarrow 1^-} \left(\lim_{\lambda \rightarrow 0} B_{n,\lambda,q}^{(\alpha,\beta)}(x) \right) := B_n(x)$ are called the classical Bernoulli polynomials, see [15].

We now investigate some behaviours of the mentioned polynomials.

Note that the falling factorial and a generalized version of the falling factorial are defined, respectively, by

$$(x)_n = x(x-1)(x-2)\cdots(x-(n-1)) \text{ for } n \in \mathbb{N}^*$$

and

$$(x)_n^{(\lambda)} = x(x-\lambda)(x-\lambda)\cdots(x-(n-1)\lambda) \text{ for } n \in \mathbb{N}^*.$$

We give a relation between $B_{n,\lambda,q}^{(\alpha,\beta)}(x)$ and $(x)_n^{(\lambda)}$ as follows.

Theorem 3.2. For $n \in \mathbb{N}^*$, $B_{n,\lambda,q}^{(\alpha,\beta)}(x)$ and $(x)_n^{(\lambda)}$ satisfy the following property

$$B_{n,\lambda,q}^{(\alpha,\beta)}(x) = \int_{\mathbb{Z}_p} q^{-\beta y} \left([x+y]_{q^\alpha} \right)_n^{(\lambda)} d\mu_{q^\beta}(y). \quad (3.2)$$

Proof . From (3.1), we see that

$$\begin{aligned} \sum_{n=0}^{\infty} B_{n,\lambda,q}^{(\alpha,\beta)} \frac{t^n}{n!} &= \int_{\mathbb{Z}_p} q^{-\beta y} (1 + \lambda t)^{\frac{1}{\lambda} [x+y]_{q^\alpha}} d\mu_{q^\beta}(y) \\ &= \int_{\mathbb{Z}_p} q^{-\beta y} \sum_{n=0}^{\infty} \binom{\frac{[x+y]_{q^\alpha}}{\lambda}}{n} \lambda^n t^n d\mu_{q^\beta}(y) \\ &= \int_{\mathbb{Z}_p} q^{-\beta y} \sum_{n=0}^{\infty} \lambda^n \binom{[x+y]_{q^\alpha}}{\lambda}_n d\mu_{q^\beta}(y) \frac{t^n}{n!}. \end{aligned} \quad (3.3)$$

Because of $\left([x+y]_{q^\alpha} \right)_n^{(\lambda)} = [x+y]_{q^\alpha} ([x+y]_{q^\alpha} - \lambda) \cdots ([x+y]_{q^\alpha} - (n-1)\lambda)$ and by comparing the coefficients $\frac{t^n}{n!}$ of the both sides above, we acquire the desired result (3.2). \square

For $n \in \mathbb{N}^*$, the generating functions of the Stirling numbers of first kind and second kind are defined, respectively, by (see [7] and [10])

$$(\log(1+t))^n = n! \sum_{l=n}^{\infty} S_1(l, n) \frac{t^l}{l!} \text{ and } (e^t - 1)^n = n! \sum_{l=n}^{\infty} S_2(l, n) \frac{t^l}{l!}.$$

We also note that $(x)_n = \sum_{l=0}^n S_1(n, l) x^l$.

Here we give a correlation among the new and old polynomials and numbers.

Theorem 3.3. Let $n \in \mathbb{N}^*$. Then we have

$$B_{n,\lambda,q}^{(\alpha,\beta)}(x) = \sum_{l=0}^n \lambda^{n-l} S_1(n, l) B_{l,q}^{(\alpha,\beta)}(x). \quad (3.4)$$

Proof . By (2.3), we have

$$\begin{aligned} B_{n,\lambda,q}^{(\alpha,\beta)}(x) &= \lambda^n \int_{\mathbb{Z}_p} q^{-\beta y} \left(\frac{[x+y]_{q^\alpha}}{\lambda} \right)_n d\mu_{q^\beta}(y) \\ &= \sum_{l=0}^n S_1(n, l) \lambda^{n-l} \int_{\mathbb{Z}_p} q^{-\beta y} [x+y]_{q^\alpha}^l d\mu_{q^\beta}(y) \\ &= \sum_{l=0}^n S_1(n, l) \lambda^{n-l} B_{l,q}^{(\alpha,\beta)}(x). \end{aligned}$$

Thus, the proof of this theorem is completed. \square

In view of the (2.8) and (3.4), we deduce the following result.

Corollary 3.4. *The following relation*

$$B_{n,\lambda,q}^{(\alpha,\beta)}(x) = \frac{\alpha}{\beta} \sum_{l=0}^n \sum_{k=0}^l \binom{l}{k} \frac{S_1(n,l)}{(1-q^\alpha)^l} \frac{k(-q^{\alpha x})^k}{[\alpha k/\beta]_{q^\beta}} \lambda^{n-l}$$

holds true for $n \in \mathbb{N}^*$.

We here provide a relation by the following theorem.

Theorem 3.5. *We have*

$$B_{n,q}^{(\alpha,\beta)}(x) = \sum_{l=0}^n \lambda^{n-l} B_{l,\lambda,q}^{(\alpha,\beta)}(x) S_2(n,l). \quad (3.5)$$

Proof . *We firstly observe that*

$$\begin{aligned} q^{-\beta y} (1 + \lambda t)^{\frac{[x+y]_{q^\alpha}}{\lambda}} &= q^{-\beta y} e^{\frac{[x+y]_{q^\alpha}}{\lambda} \log(1+\lambda t)} \\ &= q^{-\beta y} \sum_{m=0}^{\infty} \left(\frac{[x+y]_{q^\alpha}}{\lambda} \right)^m \frac{(\log(1+\lambda t))^m}{m!} \\ &= \sum_{m=0}^{\infty} q^{-\beta y} \left(\frac{[x+y]_{q^\alpha}}{\lambda} \right)^m \sum_{n=m}^{\infty} S_1(n,m) \frac{\lambda^n t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n q^{-\beta y} [x+y]_{q^\alpha}^m S_1(n,m) \lambda^{n-m} \right) \frac{t^n}{n!}. \end{aligned} \quad (3.6)$$

From (3.1) and (3.6), we can write

$$\begin{aligned} \int_{\mathbb{Z}_p} q^{-\beta y} (1 + \lambda t)^{\frac{1}{\lambda} [x+y]_{q^\alpha}} d\mu_{q^\beta}(y) &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \left(\int_{\mathbb{Z}_p} q^{-\beta y} [x+y]_{q^\alpha}^m d\mu_{q^\beta}(y) \right) S_1(n,m) \lambda^{n-m} \right) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \left(B_{m,q}^{(\alpha,\beta)}(x) \right) S_1(n,m) \lambda^{n-m} \right) \frac{t^n}{n!}. \end{aligned} \quad (3.7)$$

By replacing t by $\frac{1}{\lambda} (e^{\lambda t} - 1)$ in (3.1), we have

$$\begin{aligned} \int_{\mathbb{Z}_p} q^{-\beta y} e^{t[x+y]_{q^\alpha}} d\mu_{q^\beta}(y) &= \sum_{m=0}^{\infty} B_{m,\lambda,q}^{(\alpha,\beta)} \lambda^{-m} \frac{(e^{\lambda t} - 1)^m}{m!} \\ &= \sum_{m=0}^{\infty} B_{m,\lambda,q}^{(\alpha,\beta)} \lambda^{-m} \sum_{n=m}^{\infty} S_2(n,m) \frac{\lambda^n t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n B_{m,\lambda,q}^{(\alpha,\beta)} \lambda^{n-m} S_2(n,m) \right) \frac{t^n}{n!}. \end{aligned} \quad (3.8)$$

Comparing (2.1) and (3.8) yields to the asserted result (3.5). \square

The following theorem includes a correlation among $B_{n,q}^{(\alpha,\beta)}$, $S_1(n,m)$ and $B_{n,\lambda,q}^{(\alpha,\beta)}$.

Theorem 3.6. *We have*

$$B_{n,\lambda,q}^{(\alpha,\beta)}(x) = \sum_{k=0}^n \sum_{l=0}^k \left([x]_{q^\alpha}\right)_{n-k}^{(\lambda)} \lambda^{k-l} q^{\alpha x l} B_{l,q}^{(\alpha,\beta)} S_1(k, l). \quad (3.9)$$

Proof . *We firstly note that*

$$\begin{aligned} q^{-\beta y} (1 + \lambda t)^{\frac{1}{\lambda}[x+y]_{q^\alpha}} &= q^{-\beta y} (1 + \lambda t)^{\frac{1}{\lambda}[x]_{q^\alpha}} (1 + \lambda t)^{\frac{1}{\lambda}q^{\alpha x}[y]_{q^\alpha}} \\ &= q^{-\beta y} \left(\sum_{m=0}^{\infty} \left([x]_{q^\alpha}\right)_m^{(\lambda)} \frac{t^m}{m!} \right) \sum_{l=0}^{\infty} \lambda^{-n} q^{\alpha x l} [y]_{q^\alpha}^l \frac{(\log(1 + \lambda t))^l}{l!} \\ &= \left(\sum_{m=0}^{\infty} \left([x]_{q^\alpha}\right)_m^{(\lambda)} \frac{t^m}{m!} \right) \left(\sum_{k=0}^{\infty} \left(\sum_{l=0}^k \lambda^{k-l} q^{\alpha x l - \beta y} [y]_{q^\alpha}^l S_1(k, l) \right) \frac{t^k}{k!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \sum_{l=0}^k \left([x]_{q^\alpha}\right)_{n-k}^{(\lambda)} \lambda^{k-l} q^{\alpha x l - \beta y} [y]_{q^\alpha}^l S_1(k, l) \right) \frac{t^n}{n!}. \end{aligned}$$

From above computation, we derive

$$\begin{aligned} \sum_{n=0}^{\infty} B_{n,\lambda,q}^{(\alpha,\beta)}(x) \frac{t^n}{n!} &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \sum_{l=0}^k \left([x]_{q^\alpha}\right)_{n-k}^{(\lambda)} \lambda^{k-l} q^{\alpha x l} \int_{\mathbb{Z}_p} q^{-\beta y} [y]_{q^\alpha}^l d\mu_{q^\beta}(y) S_1(k, l) \right) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \sum_{l=0}^k \left([x]_{q^\alpha}\right)_{n-k}^{(\lambda)} \lambda^{k-l} q^{\alpha x l} B_{l,q}^{(\alpha,\beta)} S_1(k, l) \right) \frac{t^n}{n!}. \end{aligned}$$

By equating the coefficients $\frac{t^n}{n!}$ of both sides above, we procure the relation (3.9). \square

Let $r \in \mathbb{N}$. We now introduce the modified degenerate Carlitz's q -Bernoulli polynomials of order r with weight (α, β) by the following p -adic q -integral on \mathbb{Z}_p :

$$\int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} q^{-\beta(x_1 + \cdots + x_r)} (1 + \lambda t)^{\frac{1}{\lambda}[x_1 + \cdots + x_r + x]_{q^\alpha}} d\mu_{q^\beta}(x_1) \cdots d\mu_{q^\beta}(x_r) = \sum_{n=0}^{\infty} B_{n,\lambda,q}^{(\alpha,\beta;r)}(x) \frac{t^n}{n!}. \quad (3.10)$$

The immediate result for the mentioned polynomials is given in the following theorem.

Theorem 3.7. *For $r \in \mathbb{N}$, we have*

$$B_{n,\lambda,q}^{(\alpha,\beta;r)}(x) = \sum_{m=0}^n \lambda^{n-m} B_{m,q}^{(\alpha,\beta;r)}(x) S_1(n, m). \quad (3.11)$$

Proof . *Using (2.9), we readily obtain*

$$\begin{aligned} \sum_{n=0}^{\infty} B_{n,\lambda,q}^{(\alpha,\beta;r)}(x) \frac{t^n}{n!} &= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} q^{-\beta(x_1 + \cdots + x_r)} (1 + \lambda t)^{\frac{1}{\lambda}[x_1 + \cdots + x_r + x]_{q^\alpha}} d\mu_{q^\beta}(x_1) \cdots d\mu_{q^\beta}(x_r) \\ &= \sum_{m=0}^{\infty} \lambda^{-m} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} q^{-\beta(x_1 + \cdots + x_r)} [x_1 + \cdots + x_r + x]_{q^\alpha}^m d\mu_{q^\beta}(x_1) \cdots d\mu_{q^\beta}(x_r) \frac{(\log(1 + \lambda t))^m}{m!} \\ &= \sum_{m=0}^{\infty} \lambda^{-m} B_{m,q}^{(\alpha,\beta;r)}(x) \sum_{n=m}^{\infty} S_1(n, m) \frac{\lambda^n t^n}{n!} = \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \lambda^{n-m} B_{m,q}^{(\alpha,\beta;r)}(x) S_1(n, m) \right) \frac{t^n}{n!}. \end{aligned}$$

Hence, we have the claimed result (3.11). \square

At last, we give the following theorem.

Theorem 3.8. *For $r \in \mathbb{N}$, we have*

$$B_{n,q}^{(\alpha,\beta;r)}(x) = \sum_{m=0}^n B_{m,\lambda,q}^{(\alpha,\beta;r)}(x) \lambda^{n-m} S_2(n, m).$$

Proof . *If we write $\frac{1}{\lambda}(e^{\lambda t} - 1)$ in place of t in (3.10), we readily get*

$$\begin{aligned} & \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} q^{-\beta(x_1+\cdots+x_r)} e^{t[x_1+\cdots+x_r+x]_{q^\alpha}} d\mu_{q^\beta}(x_1) \cdots d\mu_{q^\beta}(x_r) \\ &= \sum_{n=0}^{\infty} B_{n,\lambda,q}^{(\alpha,\beta;r)}(x) \lambda^{-n} \frac{(e^{\lambda t} - 1)^n}{n!} \\ &= \sum_{m=0}^{\infty} B_{m,\lambda,q}^{(\alpha,\beta;r)}(x) \lambda^{-m} \sum_{n=m}^{\infty} S_2(n, m) \frac{\lambda^n t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n B_{m,\lambda,q}^{(\alpha,\beta;r)}(x) \lambda^{n-m} S_2(n, m) \right) \frac{t^n}{n!}. \end{aligned}$$

In the light of (2.9), we have the desired result. \square

As a consequence of the Theorem 3.8, we state the following result.

Corollary 3.9.

$$B_{n,q}^{(\alpha,\beta;r)} = \sum_{m=0}^n B_{m,\lambda,q}^{(\alpha,\beta;r)} \lambda^{n-m} S_2(n, m).$$

Acknowledgement 1: The first author is supported by TUBITAK BIDEB 2211-A Scholarship Programme.

Acknowledgement 2: The authors are very grateful to the Nesin Mathematics Village for their support and warm hospitality during this work.

References

- [1] S. Araci, M. Acikgoz, *A note on the values of weighted q -Bernstein polynomials and weighted q -Genocchi polynomials*, Adv. Differ. Equ., (2015), Doi: 10.86/s13662-015-0369-y.
- [2] L. Carlitz, *q -Bernoulli and Eulerian numbers*, Trans. Amer. Math. Soc., V.76 (1954), 332–350.
- [3] L. Carlitz, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Utilitas Math., V.15 (1979), pp. 51-88.
- [4] U. Duran, M. Acikgoz, *New theorems on Carlitz's twisted q -Bernoulli polynomials under the symmetric group of degree n* , Adv. Appl. Discrete Math., V.17, N.3, (2016), 361-372.
- [5] T. Kim, *q -Volkenborn integration*, Russ. J. Math. Phys., V.9, N.3, (2002), 288-299.
- [6] T. Kim, *On the weighted q -Bernoulli numbers and polynomials*, Adv. Stud. Contemp. Math., V.21 (2011) N.2, 207-215.
- [7] T. Kim, D. S. Kim, H. I. Kwon, *Some identities relating to degenerate Bernoulli polynomials*, Filomat, V.30, N.4, (2016), 905-912.
- [8] T. Kim, D. V. Dolgy, S. H. Lee, B. Lee, S. H. Rim, *A Note on the modified q -Bernoulli numbers and polynomials with weight α* , Abstr. Appl. Anal., (2011), Doi: 10.1155/2011/545314.
- [9] T. Kim, *On degenerate q -Bernoulli polynomials*, Bull. Korean Math. Soc. 53 (2016), No. 4, pp. 1149–1156.
- [10] J. G. Lee, L.-C. Jang, *On modified degenerate Carlitz q -Bernoulli numbers and polynomials*, Adv. Differ. Equ., (2017), Doi: 10.1186/s13662-016-1060-7.

Modified Degenerate Carlitz's q -Bernoulli Polynomials with Weight $(\alpha, \beta)x$ (xxxx) No. x, xx-xx11

- [11] J. G. Lee, J. Kwon, *The modified degenerate q -Bernoulli polynomials arising from p -adic invariant integral on \mathbb{Z}_p* , Adv. Differ. Equ., (**2017**), Doi: 10.1186/s13662-017-1084-7.
- [12] L.-C. Jang, *On the weighted degenerate Carlitz q -Bernoulli polynomials and numbers*, Global J. Pure Appl. Math., V.13, N.6 (**2017**), 1691–1699.
- [13] J.-W. Park, *On the modified multiple q -Bernoulli polynomials with weight*, Adv. Studies Theor. Phys., V.8, N.2, (**2014**), 97-104.
- [14] C. S. Ryoo, *Symmetric identities for Carlitz's twisted q -Bernoulli polynomials associated with p -adic q -integral on \mathbb{Z}_p* , Appl. Math. Sci., V.9 (**2015**), N.72, 3569-3575.
- [15] P. T. Young, *Degenerate Bernoulli polynomials, generalized factorial sums, and their applications*, J. Number Theory, V.128, (**2008**) 738–758.